
 

 

 

 

 

 

 

                                   

                   

       



                 

  

sin 𝐶 =
𝐶                     

=
𝐴𝐵

𝐴𝐶
 

cos 𝐶 =
𝐶                     

=
𝐵𝐶

𝐴𝐶
 

tan 𝐶 =
𝐶                  

𝐶                  
=

𝐴𝐵

𝐵𝐶
 



 

                                       :     α               

 



  

𝐴𝐵2 + 𝐵𝐶2 = 𝐴𝐶2 ⇒  1 2 +  2 2 = 𝐴𝐶2 ⇒ 𝐴𝐶2 = 5 ⇒ 𝐴𝐶 =  5 

𝐴𝐶2 + 𝐶𝐷2 = 𝐴𝐷2 ⇒   5 
2

+  1 2 = 𝐴𝐷2 ⇒ 𝐴𝐷2 = 6 ⇒ 𝐴𝐷 =  6 

sin𝛼 =
𝐶𝐷

𝐴𝐷
=

1

 6
 

cos𝛼 =
𝐴𝐶

𝐴𝐷
=

 5

 6
 

tan𝛼 =
𝐶𝐷

𝐴𝐶
=

1

 5
 



                         :     B   C .              

 



                            

 

60° 45° 30°  

 3

2
 

 2

2
 

1

2
 

Sin 

1

2
  2

2
 

 3

2
 

Cos 

 3 1  3

3
 

Tan 

 



                            :     10                             

                     )   

 



 

 

 :  

)     

 

         = 𝐴𝐵 

cos 30° =
𝐴𝐵

𝐴𝐶
⇒

 3

2
=

𝐴𝐵

10
⇒ 𝐴𝐵 =

10 3

2
⇒ 𝐴𝐵 = 5 3 

 ) 

                         = 𝐵𝐶 

sin 30° =
𝐵𝐶

𝐴𝐶
⇒

1

2
=

𝐵𝐶

10
⇒ 𝐵𝐶 =

10 × 1

2
⇒ 𝐵𝐶 = 5 



  

                                                                       :    

400                                         45                    

           .       1000 :                              

                                                  )   

                            ) 

 



 

 )   

sin 45° =
𝐴𝐵

𝐴𝐶
⇒

 2

2
=

𝐴𝐵

1000
⇒ 𝐴𝐵 =

1000 ×  2

2
⇒ 𝐴𝐵 = 500 2 

  ) 

cos 45° =
𝐵𝐶

𝐴𝐶
⇒

 2

2
=

𝐵𝐶

1000
⇒ 𝐵𝐶 =

1000 ×  2

2
⇒ 𝐵𝐶 = 500 2 

        = 400 + 500 2 



                                    :     50              60°        

          .      4000                                          

        

 



       

 


